GENERAL NOTES:

1. STORM PANEL SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH NOTES:

THE 2017 (6th EDITION) OF THE FLORIDA BUILDING CODE. THIS STORM PANEL SHALL NOT BE INSTALLED AT HIGH VELOCITY HURRICANE B.1) MINIMUM EMBEDMENT OF TAPCON, ELCO PANELMATE, AND CF TAP—GRIP ANCHORS INTO CONCRETE BLOCK

ZONES (MIAMI-DADE / BROWARD COUNTIES). UNIT SHALL BE 1 1/4% 1 3/8" FOR ZAMAC NAILIN ANCHORS AND 1 1/8" FOR RED HEAD DYNABOLT SLEEVE ANCHORS

w%m\ﬂz &@b %.%M%% LWI\MWQWM %umﬂ%wﬁh%ogn% mmw%:%%a&mwmm mﬂvmmm.w mm&mq\mmmd\w \mewoﬁm_whmﬁo%%mzm B.2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO EMBEDMENT INTO STUCCO
TTED: g » : * MINIM

FOR A DIRECTIONALITY FACTOR Kd=0.85. USING ASCE 7-10 FOR INSTALLATIONS UNDER 2017 FBC AND SHALL o e PCRMITED, Ty Y20 ISOREWEL USED SHALL 5 T 1457 LAIE WINMUN SHOULD STIEER EXIST, #AG o

NOT EXCEED THE MAXIMUM (A.S.D.) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 8.

IN ORDER TO VERIFY THE ABOVE CONDITION, ULTIMATE DESIGN WIND LOADS DETERMINED PER ASCE 7-10 B.3) MINIMUM EMBEDMENT OF 1/4% x 3/4" ALL POINTS SOLID—SET ANCHORS SHALL BE 7/8" INTO THE CONCRETE BLOCK. NO

SHALL BE FIRST REDUCED TO A.S.D. DESIGN WIND LOADS BY MULTIPLYING THEM BY 0.6 IN ORDER TO EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" 8—20 S.S. MACHINE SCREW USED SHALL BE 1 1/2" LONG MINIMUM

TO COMPARE THESE W/ MAX. (A.S.D) DESIGN PRESSURE RATINGS INDICATED ON SHEETS 4 THRU 8. SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NGO STUCCO.

IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.E.D. AS TESTED WERE NOT OVER STRESSED, A 33% INCREASE IN B.4) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG

ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. A DURATION FACTOR CD=1.60 WAS USED FOR VERIFICATION ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES IN B. C AND

OF FASTENERS IN WOOD. B.2) ABOVE.

STORM PANEL’S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTION 1609.1.2 OF THE

ABOVE MENTIONED CODE AS PER ATL REPORTS # 0121.01-98R, # 0329.01-00, #0512.01—03 AND 0617.01—04 AS PER IMPACT TESTING (C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR’S MANUFACTURER.

EQUIVALENT TO ASTM E—1996 STANDARD & ASTM E 330-02 STANDARD, LIMITED TO INSTALLATIONS WITHIN WIND ZONES 1, 2 & 3 AS DEFINED
BY ASTM E—1896 STANDARD.

7. PANELS MAY ALSO BE INSTALLED HORIZONTALLY FOLLOWING INSTALLATION DETAILS SHOWN ON SECTIONS 1 THRU 8 (SHEET 2 & 3 OF 8)
2. ALL STEEL SHEET METAL PANELS SHALL HAVE STRUCTURAL QUALITY ASTM A—653, GRADE 40, WITH G-60 GALVANIZED STEEL EXCEPT THAT HEADERS 2, 3 & 4 SHALL NOT BE USED.

DESIGNATION.
8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
3. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY & TEMPER UNLESS OTHERWISE NOTED. ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.
STORM PANEL COMPONENTS & STUDDED PLATE AND SNAP CAP ARE PATENT PENDING.
9. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE
4. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR CORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018 BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS ALL AROUND FULL LENGTH.
W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH & SHALL COMPLY W/ FLORIDA BUILDING CODE SECTION 2411.3.3.4.
10. (a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT: i.e.

5. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AIS! 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

6. ANCHORS TO WALL SHA AS FOLLOWS: (UNLESS OTHERWISE NOTI (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
L bt BE Laps: ERWISE NutEa) BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION

(A) TO EXISTING POURED CONCRETE: SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

— 1/4" ¢ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.

. (c) THIS P.ED. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.
— 1/4" ¢ CF TAP—GRIP ANCHORS (BERTHA STUD-CON), AS MANUFACTURED BY TRU—FAST CORPORATION,

— 1/47 ¢ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC. (d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH WILL BECOME THE
- 1/4" ¢ x 7/8" CALK—IN ANCHORS OR ELCO male & female "PANELMATE" AS MANUFACTURED ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D.
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY. ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE
- 1/4" ¢ x 3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY. SPECIFIC DRAWINGS FOR REVIEW.
NOTES: (e) THIS P.ED. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
A1) MINIMUM EMBEDMENT INTO POURED CONCRETE OF TAPCON ANCHORS IS 1 3/4% FOR ZAMAC NAILIN ANCHORS IS 1 3/8% FOR PREPARED IT.

ELCO PANELMATE ANCHORS 1S 1 3/4', AND FOR CF TAP~GRIP ANCHORS IS 1 1/4" 11.  SHUTTER MANUFACTURER'S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT STORM PANEL IN ACCORDANCE WITH SECTION

Y 1709.9.3 OF FLORIDA BUILDING CODE. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
A2) 7/8" CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POQURED CONCRETE. NO EMBEDMENT INTO STUCCO SHALL LABELING TO COMPLY WITH SECTION 1709.9.2 OF THE FLORIDA BUILDING CODE.

BE PERMITTED. 1/4'9—20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST, AND 1" MINIMUM FOR
WALLS WITH NO STUCCO.

A.3) MINIMUM EMBEDMENT OF 1/4"6 x 3/4” ALL POINTS SOLID-SET ANCHORS SHALL BE 7/8" INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4" ¢—20 S.S. MACHINE SCREW USED SHALL BE 1 1/2” LONG MINIMUM
SHOULD STUCCO EXIST, AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

A4) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WALL OR FLOCR,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS, ANCHORAGE SHALL BE AS
INDICATED ON NOTES A.1) & A.2) ABOVE,

(B) TO EXISTING CONCRETE BLOCK WALL:
— 1/4” @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX. THIS DRAWING SHALL ONLY BE USED TO
— 1/4" @ CF TAP—GRIP ANCHORS (BERTHA STUD—CON), AS MANUFACTURED BY TRU—FAST CORPORATION. OBTAIN PERMITS IN THE STATE OF FLORIDA
— 1/4" ¢ ZAMAC NAILIN ANCHORS AS MANUFACTURED BY POWER FASTENERS, INC. o
— 1/4" ¢ x 7/8" CALK—IN ANCHORS OR ELCO male & female "PANELMATE” AS MANUFACTURED w.n..: e
BY POWER FASTENERS, INC. AND ELCO CONSTRUCTION PRODUCTS, RESPECTIVELY. o &4, A .E.S %
- 1/4" 8 x 3/4" ALL POINTS SOLID-SET ANCHORS AS DISTRIBUTED BY ALL POINTS SCREW, BOLT & SPECIALTY COMPANY. .... /.w en%ild.
— 1/4" ¢ RED HEAD DYNABOLT SLEEVE ANCHORS AS MANUFACTURED BY LT.W. BUILDEX. & %...../Vﬂmzmmn.... T3
) o & *, b
8 K "
$ "
N : 7 - M
§  No. 44167 3 " FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
u ° :
m *... x ...R l” ©2017 TILTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL LC.
: o5 SWTEOF ¢ &8 (2.25”" DEEP) DRAWN BY:
tl ‘
2 3
5 # \J 07/25/17
e AR e xrnw. o — _ EASTERN METAL SUPPLY, INC T
\\FA.\\ %&Z’fﬁ o ILIECO inc. 4268 WEST ROADS DRIVE
Py, gatt TILLIT TESTING & ENGINEERING COMPANY WEST PALM BEACH, F1. 33407 17—095
“ss900001 L bl L s g U i T MO a4 PHONE: (561)209-8263, FAX: (561)841-1716 =
FPhone : ﬂunu»mu_m_uw_l.mmnmm.m_w“m (305)871-1531 =g = s T DRAWING No
WALTER A. TILLIT Jr. P.E. ! OLD 15-043 107./25/17| 3
FLORIDA Lic. # ahumw 2 GN. 1 vo/26/17] 4 SHEET' ¢ OF .8




14.845” (TOTAL WIDTH)

.0 » oyt |
8.845" (TOTAL WIDTH) m : 2.560"— ) quﬁ% e 2260 . ,
12.000" (EFFECTIVE WIDTH) 6.000"(EFFECTIVE EE.I:I _ ; — T A 125 Tm.m% N—
| | T 7 |
1.500 ——4.500"—— | |-].500" | T
ﬁlg i Gm%w.ﬁmﬁ K j | | R.250 ﬁ;mm. [-125” R.250" “R.125% E ?
{ YP- | 2 | T | T T —I "
5 5 : v ; * 7 e | . S Yot
3 I el o S 8 Fm “ 3 X__T 125" R.200 %m ‘ ~97 F.,.o,. 3 $
$ g : 5 R Ty 5 a5 HEY - B
% — 2.125" —3.891"— 2.125" |- N — 21257 - Mw m ] 7 97 e Lﬂw S 3 &
FULL PANEL W/ HEMMED EDGES HALF PANEL W/ HEMMED EDGES g8 | _ : 3 7 N AN
| @ [ T!N.rs. | W FULL R,
“ | [Scru g 2.681" |
. 230" —
15.119" (TOTAL WIDTH) : 9.119" (TOTAL WIDTH) i 4) "U” HEADER
ﬁ|n.8o. (EFFECTVE WIDTH) —————— | 6.000"(EFFECTIVE WIDTH) — ) = e i
ﬁ | » My ’ -
| | ; ; —1.500" 1.500! ——4.500"— 7.500" 3 3° Max. "U” BUILD OUT
_ | % i 44\1@ AS APFLICABLE ﬁ_ ] b SCALE : 3/8" = 1"
i (Typ.) [ T. -
\NE / Das= Is s
- N -~ N
. Lo - T X T ~ 2t
2.125 3.891 2.125 2.125 FE p— .
OPTIONAL FULL PANEL W/0O HEMMED EDGES OPTIONAL HALF PANEL W/0 HEMMED EDGES | 8% 750" Mx.;
N8 T o.125” ~R.125" 500" Max. |
(@ SOLID STORM_PANEL Si— L / SR125°
SCALE : 3/16" = 1" % — 4
- 150"
m E jﬁ.m%
384" —
TOP TRACK 3.000" Mox.
7 (SEE COMPONENTS) -
| »
e CONCRETE ANCHORS (SEE SCHEDULE) 37— (&) 3~ ANGLE BUILD
ke L, OUT BRACKET
o o o o SCALE : 3/8" = 1"
T T T 1T T T T T =TT 1T
) hﬂ‘,
| 1—1 063"
HiRimes J@\\\\\ be.
T 1/4% 304 SERIES
e
x @ 093" SHOWN ON’ SECTIONS. L J1ES —!
h ; ; | 252 3 b
V v v . | S ﬁu‘z N L1 ﬂw ©
S =5 = — cy
LR A FEH - N
[ s = S = ||| oeraL 1 7 AR
A —— = .1875"
bl concrere ancrors (see soreoue)—— | 5+ S -] —{ 050" Or .060"
i STORM_PANEL L o i
— BOTTOM TRAC
3\@\0\,” WWWJ\L TION (scE M__Qt.uoz_..mzﬂmu @ _STUDDED ANGLE DETAIL 1: STUD W/ DIE CAST ZINC KEY HOLE WASHER
s m%mﬂmn\kmqr&w« NICKEL PLATED WING NUT NQ_\udQZ TO qu &mﬂﬁﬁﬂuﬂmﬁuﬁﬂ
M ﬁL\A. Mox. GAP 1/4" Max. GAP— —
= ol 278" 2257 ) /4% 304 SERIES
., w/ JAD627 5.5, STUD RIVETED
SO A =
SECTION A-g\ Q¥ \GENS; T3 738 JP wa <
. T S5 3 . . --o "
m... .... zo tﬂmﬂ .... W 2 760~813" FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
3 * : ' % : % 3 T - ©2017 TILTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL Le.
H STATE OF e °F (2.25" DEEP) DRAWN BY:
. » ) »
- S&N 471 509" 07/25/17
(= v...@%boaov L& BT\ \ Tileco - / EASTERN METAL SUPPLY, INC
= el bt Ll p62" INC. 4268 WEST ROADS DRIVE
= ¢S i n.w' -—o' e WEST PALM BEACH, FL. 33407
1\\\\%— \QZ)P ‘d’-._.. {12 STUDDED PLATE 13 SNAP_CAP i S gl g N B 8 PHONE: (561)209-8263, FAX: (561)841—1716 17-095
“e2000000011% = 6063-T5 ALLOY 3 6063-T5 ALLOY e Quww.mmwumm_.umwﬂm.. PRI il RN DA | v R DESCHPTION I s
c 3= 1 ;38 = 1" i . P.E - 25717}
s SOAE s LomDA L § 44167 T — T SHEET 1A OF 8




TAPCONS, ELCO male/fernale

TAPCONS, ELCO male/female

TAPCONS, ELCO male/female
PANELMATE, ZAMAC NAILIN, .
CALK—IN OR CF TAP-GRIP

FPANELMATE, ZAMAC NAILIN, PANELMATE, ZAMAC NAILIN, N
CALK—IN OR CF TAP—-GRIP AN N CALK—IN OR CF TAP—GRIP
ANCHORS. (SEE SCHEDULE WO\V ..m ANCHORS. ﬁm....uum SCHEDULE FOR
SPACING). / 0 .m._uhﬁ._..?_mw.
- * sy
= _ POURED
1 CONCRETE
POURED 1 REQUIRED —.
CONCRETE , _ _ ] // 3 N
REQUIRED N © , | a S
x
X N || &% M
| | N
| @n,o:h
. W L NN
| ® R .
_ _ 17 MINIMUM i

A u, _

IAY |

:,... ]

Tﬂ: MINIMUM —
SEPARATION TO | _
GLASS OF WINDOW | |

OR S. G. D.

/

a :

25 % |
POURED — Ly S o
CONCRETE ” 1l S | _
OR CONCRETE | Q

BLOCK WALL I i
REQUIRED 1 — —< 4 1 I

—T

— Max. PANEL LENGTH (SEE SCHEDULE)

SEPARATION TO
GLASS OF WINDOW
OR S. G. D.

1.000" —~

1/4" 6-20 x 3/4"
BOLTS W,/ w\m.\x

3/32" WING NUT ©
12" 0. C. ———

\

» 8 \
POURED — W -
CONCRETE m
OR CONCRETE _
BLOCK WALL |
REQUIRED . — —A4R

g

 Max. PANEL LENGTH (SEE SCHEDULE) ——

TAPCONS, ELCO male/femmale
PANELMATE, ZAMAC NAILIN,
CALK—IN OR CF TAP-GRIP

N
-—.500"

v
+

| A |

o
=~

SIS ////|/////
)

ANCHORS. (SEE SCHEDULE FOR m ANCHORS. (SEE SCHEDULE FOR
SPACING). / ~ b SPACING).
k, )
> 1 [
e |
O POURED
POURED | N ' CONCRETE
CONCRETE | ™~ REQUIRED —. o
REQUIRED & N\ -
I/ o
g N |
| g - “
NN t
|
,
1

,.,
\
A
_ Al

=— 1" MINIMUM —
SEPARATION TO
GLASS OF WINDOW
| OR'S. G. D.

FINISHED WALL
(W, STUCCO) %
N

4|\,

TAPCONS, RED HEAD DYNABOLT v\\ ﬂ
(BLOCK ONLY), ELCO male/female N
PANELMATE, ZAMAC NAILIN,

CALK—IN OR CF TAP—GRIP
ANCHORS. (SEE SCHEDULE FOR

Y4
TAPCONS, RED HEAD DYNABOLT
(BLOCK ONLY), ELCO male/female/”
PANELMATE, ZAMAC NAILIN,
CALK—IN OR CF TAP—GRIP
ANCHORS. (SEE SCHEDULE FOR
SPACING).

7 Li\\\@ Cont.

WALL MOUNTING INSTALLATION

WING NUT @ w
& 12* 0. C ., S
, POURED — L

| CONCRETE W

| OR CONCRETE W

BLOCK WALL ”

, REQUIRED 1

Max. PANEL LENGTH (SEE SCHEDULE)

7 1/4” 6-20 x

A
_.,” A\

1" MINIMUM
SEPARATION TO GLASS
OF WINDOW OR S. G. D. _

1/4" 9-20 x 3/4" _
BOLTS W/ 7/8" x
3/32" WING 'NUT @
12" 0. C.

3/4" BOLTS W/
| 778" x 3/32"

%z
7 POURED —~ Q i 7
" CONCRETE W N
OR CONCRETE | <
BLOCK WALL , 4
REQUIRED | 1
1 | N
e ]

TAPCONS, RED HEAD DYNABOLT
(BLOCK ONLY), ELCO male/fernale
PANELMATE, ZAMAC NAILIN, !
CALK—IN OR CF TAP—GRIP

ANCHORS. (SEE SCHEDULE FOR
SPACING).

SCALE : 3/8" =

EDGE DISTANCE
(SEE SCHEDULE ON
SHEETS 5 & 6 OF 8)

SPACING). SECTION @ ANCHOR
}. .
_ Q@
| s SECTION 2
| W -
1 3
) © &
Ly
el | g
| 7 3
q | w\mo.,. x W\Mm, g
- | vWive nu
L i, 12" 0. C. o =
| A : £
. by
poureD — | | Pl %
CONCRETE i 2
OR CONCRETE f |
BLOCK WALL , )
REQUIRED j
\ Cont.

SECTION @ STUD

WALL MOUNTING INSTALLATION
SECTION 1

NOTE : DETAIL OF SECTION @ STUD VALID ALSO FOR
WALL MOUNTING INSTALLATION — SECTION 2 (TOP)

SCALE : 3/8" = 1"

-

bty

-—.500"

_

CALK—IN OR CF TAP-GRIP
ANCHORS. (SEE SCHEDULE FOR

SPACING).

WALL MOUNTING INSTALLATION

’* SECTION 3

ot

o

g
S

‘ 'll .
N o
Ly 3

w

o
o
»

-
.\\_‘

NOTE FOR COMBINATION OF SECTIONS :

WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION.

Tl JIPISESIs,

—.. ﬁ.ﬁm‘w A :hh\\!\u\!l“

LILT TN

CENSE~ 2

2
Y 7 STATEOF
SIONAL T

200000020877

&

o

SCALE : 3/8" = 1

»

-
o
“epscant®’

A

Y,

N
N
8
8

y
....

/

TAPCONS, RED HEAD DYNABOLT
(BLOCK ONLY), ELCO male/fernal
FANELMATE, ZAMAC NAILIN,

Cont. | I

% Qs

—————— Max. PANEL LENGTH (SEE SCHEDULE)

BUILD OUT INSTALLATION

SECTION 4

SCALE : 3/8" = 1"

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2017 TILTECO, INC.

24 GAGE GALVANIZED BERTHA STEEL STORM PANEL

ILIEC O inec.

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 35th. Si, Ste. 305, VIRGINIA GARDENS, FI. I3166
Phone : (305)871-1530 . Fox : (305)871-1531

EB—0006719 m¥

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

4

L.C.
(225" JEER) DRAWN BY:
07/25/17
EASTERN METAL SUPPLY, INC TS
4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
PHONE: (561)209—8263, FAX: (561)841—1716 17-095
No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
op 15-043  or/zss7 s

SHEET 2 OF 8




TAPCONS, ELCO male/female TAPCONS, ELCO male/fernale

7/8" ¢ WING NUT ONLY
CALK—IN ALL POINTS SOLID-SET OR
PANLLMAIE, D CALKC N ANGHERS TAPCONS, ELCO male/femal CONCHIE U sl 1] O ELCO male/female PANELMATE i i
(SEE SCHEDULE FOR SPACING). | = DPCous. SLC0 uleytemale S (SEE SCHEDULE FOR SPACING). # i mw : \\.w.ulma it /" PANELMATE (TYP.)
(SEE SCHEDULE FOR SPACING). W@ W/1/4°6-20 TRUSSHEAD BOLT *
POURED CONCRETE & B SEE SCHEDULE FOR SPACING) / _ f
REQUIRED m POURED CONCRETE POURED CONCRETE [ = |/Lm
T [ [ REQUIRED REQUIRED g POURED == =3 | |
1" H| |17~ TN CONCRETE T |
N J_, N mma:ﬁm_ul/ L
LN X . -
4 R T a f <
! ﬁ i . ﬁ ] " [
7 ALTERNATE 1 , 7 ALTERNATE ! I
LEG LOCATION B RE! W | | | o
ol m _
7 m f | | [ ﬂv
7 1/4" 920 , . : 7 1/4” 9-20 ﬁ 7 _
— X A e
e Bols Wy f ] ﬁ , ; b 347 BoLTs W/, _ | _ . _ )
| 7/8" 8 x 3/32 | [ o o T\m s x 3752 /| , o _ | 2
, WING NUT © | | ! | 3 WING NUT @ /1 f 4 | 2
1270 c. ——— | _ D 8 | g ﬁm 0 ¢c——— | f m _ _ | 3
| —O & | : —® §
| | 5 | ; , | 3 | ; B 3
_ ' | i a m fu A = =
| A ) | < . 7 J | | ] 5
i\ - A = | A , | 17" MINIMUM | _ Q
' “ £ | N _ g N — = — SEPARATION TO —] L g
17 MINIMUM _ 5 _ 3 7 1” MINIMUM L 5 | ouss L o
SEPARATION TO _ = | _ 2 — SEPARATION TO — 3 _ | g
GLASS = 1" MINMUM 3 A GLASS . o | I g
| b — SEPARATION TO—| , | N f | 2 f [ N
_ * | oLass o % | o < _ | g
1/47 9-20 x 3/4" _ $ , _ 2 f ] § ] ,
BoLTS W/ 7/8% ¢ x _ | ﬁ | 7/8" 6 x 3/32" | m . o | - I "
3/32" WING NUT | | vive nut @ m 14" 8-20 x [ g A |
e 12" o. C m W -1z 0. C. | ﬁwmm” wowww\m@ N\ ! I W W |
| , ! | | ,
| W WING NUT © ,
m ﬁ W | 12" 0. C. W W o8 7 f
ALTERNATE ” ! [ pouRED — M |
LEG LOCATION — | f 1 ﬁ_ W ! CONCRETE 7 |
, / OR CONCRETE ,
| _ _cln f | = BLOCK WALL A f
VN, NS AN REQUIRED o= U\M@ f
e (724 L] ’ == ,
—1" TAPCONS, ELCO male/fernale , i CALK—IN ALL POINTS SOLID—SET ﬁ\ !
TAPCONS, ELCO male/female i PANELMATE OR CALK—IN ANCHORS o, L0 %mﬁ&mﬂ&mxomm 1! \\ ELCO moale/female PANELMATE o . '
PANELMATE OR CALK—IN bZﬁIO.ﬂ.m,\\\\\\rL (SEE SCHEDULE FOR SPACING). N ) (SEE SCHEDULE FOR SPACING) \ll @ 1/4"6—20 SIDEWALK BOLT OR @
(SEE SCHEDULE FOR SPACING). 7 POURED CONCRETE—' ' b Wm@mm mnxmmﬂ.m Mﬁm%m_u\ﬂww%%x@b BOLT *
/ REQUIRED . D.
. D. POURED CONCRETE —
mmmum%m%oz%ﬂm REQUIRED v
WALL MOUNTING INSTALLATION (D. M.)
CEILING & FLOOR MOUNTING CEILING & FLOOR MOUNTING CEILING & FLOOR MOUNTING SECTION &
- SCALE : 3/8" = 1"
INSTALLATION — SECTION 5 INSTALLATION — SECTION 6 INSTALLATION — SECTION 7
SCALE : 3/8" = 1" SCALE : 3/8" = 1" SCALE : 3/8" = 17
*x
SIDE WALK BOLTS ARE 3/4°8x3/32"THICK
HEAD MACHINE SCREW W/LENGTH
10909220, AS PER NOTES 4.2 & B.2 (SHEET 1)
..... m\ﬂ A. .:k T TRUSS HEAD BOLTS ARE 1/2"0x1,/8"THICK
wadeh /= HEAD MACHINE SCREW W/LENGTH
E. D. = EDGE DISTANCE WA aoseeeeeee, = AS PER NOTES A2 & B.2 (SHEET 1)
(SEE SCHEDULE ON O\ - /VOMZ% o, e\\bﬂ‘
SHEET 5 & 6 OF 8) cca - . m, I
N 2 > % -
) . 3 -
4 f No. 44167 i
LI
SN ; . .
= OF ...Am. N FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
HOTE. FOR COMBINATION [0F SECHONS i = .hom_ov.......%c ..., ©2017 TILTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL Le.
WALL/FLOOR/CEILING MOUNTING SECTIONS CAN BE %\O.:... m/rn.,v/ _p.% (2.25" DEEP) DRAWN BY:
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. \\\\\\\\\@DW} f....“.» EASTERN METAL SUPPLY. INC 07/25/17
‘ ] DATE:
———I—mno INC. 4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
5555 1w 5o, S St 355 VRGN GARDENS. £ 55105 PHONE: (561)209-6263, FAX: (561)841-1716 17-095
Fhone : ch»mw.mﬂm_lumwm._.um_ﬁw“m (305)871-1531 r—E e T = DRAWING No
: . P.E. oD 15-043 _ lo7/25/17] 3
"FLORIDA L § 44167 ; 7 SHEET 3 OF &




MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND

Ei 1
— e CORRESPONDING MAXIMUM PANEL LENGTH "L” (Ft.) SCHEDULE
< I
POURED CONCRETE N\ u,: T Max. nmzwm%mzmwt
CONCRETE BLOCK WALL P AS.D. BESIGN 24 GAGE STEEL
REQUIRED ] Max. T PRESSURE RATING
% j %@ b=t MOUNTING W,/0 | MOUNTING W/_ | MoUNTING W/
| *h* HEADER (2)| *h* HEADER (2)| compP. (12) & (13)
’ POURED CONCRETE I
) or : \ "_gn i 5 o
CUT PANEL -/ CONCRETE BLOCK WALL % I N +35.0, —40.0 9'-8 9'-8 9'-8
./ REQUIRED
in. +40.0, —45.0 9'-2 g'-2 9'-2
— CONCRETE ANCHORS N
? e 12" 0. C S
\ E +45.0, —50.0 8’9" 89" 8'-9"
28 § 200
» » n ® : ™~
2" x 4" x .125 - £ f ” . ” ’ ”
3105-H14 OR 6063-T6 ALLOY Y L= f +30.0, -53.0 Bl 84 &'—4
Cont. Alum. ANGLE . 5 D// N OR OR OR
Q g |
d o ” ) on ' o i
/ P pr \ N\ +60.0, —65.0 7'-8 7'-2 7'-8
2 WL T iy -
CASE A ﬂ\U\QBM 1/4" ¢ BOLT 4" x 4" x 072" +70.0, —80.0 7'=2" 63" 7'=2"
- - © 24" 0. C. 3105-H14 OR 6063—T6 ALLOY
STALS: I = K Cont. Alum. ANGLE NOTE: MINIMUM PANEL LENGTH IS 3'—0"
POURED CONCRETE
T CASE B_(Plan) R
BLOCK WALL - - BLOCK WALL ™\ CONT.
REQUIRED \ g SCALE: 1/4" = 1 FRtines . (OPEN POSITION +)
2. in. S
CONCRETE \ 2.500 TAPCON ANCHORS OR 5
ANCHORS I\ M. ALL POINT SOLID-SET / T
12" 0. C. @/j mooN Min. (SEE SCHEDULE FOR SFACING)
SO 7 L 7 A= + NOTE: SNAP cAP (73 TO)
— POURED CONCRETE —— | (REQD) , REMAIN CLOSED AT NON
t OR CONCRETE BLOCK . 7 J , ” HURRICANE CONDITIONS.
p— _, WALL REQUIRED /., % . N |
2" x 2" x .055" TO e B R AR AR ,
2" x 5" x .055" _— _ T
Cont. Alum. ANGLE ALTERNATE LEG LOCATION ,

OR .080" 3105—H154

7 17 MINIMUM

| | ,
e , -~ f
SHEET METAL Alumn. mw , SEPARATION
BT P P2 |17 MINMUM | 70 GLASS | CONT.
~& | separaTion |1 |
| TO GLASS T ,

7/8" x 3/32"

—Max. PANEL LENGTH (SEE SCHEDULE)

K | _ 2 \\Imﬁm@ NUT @ EA.
@j | POURED ]
CASE C (Plan) s | CONCRETE O !
SCALE: 1/4”" = 1" _ BLoCKk WALt
( ) | | SECTION @ mﬂ%/@mmmﬂ POSITION +)
2" x 3" x .093" Q\bmm m h\QNﬂ TAPCON ANCHORS OR | S
3105 H-14 OR ALL POINT SOLID-SET
6063~T6 ALLOY (SEE SCHEDULE FOR SPACING) : . TYP. TOP/BOTTOM
Cont. Alum. ANGLE SCALE: 1/4" = 1" &
Mqﬂmmz%xmmm / SN POURED CONCRETE y /@nﬁzﬂ
®J o N\ Hm (% 100000000 s | REQURED (OPEN POSITION +)
_ 48 O\ /vamz,w &.o..u WALL MOUNTING INSTALLATION
= S -o- -- -
§ 7V eNT R SECTION 9
Wmmwwmw&mm‘,%%ﬂm m & No. 44167 3 SCALE : 3/8" = 1"
REQUIRED — * au FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
/g VxN . OF Am. % ©2017 TWTECO, INC. 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL Le
END CLOSURES DETAILS 3¢ x&%%_ay%\ (2.25" DEEP) o o
= ) 07/25/17
CASE D (Plan) =, OIONAL £ TiLlEco - EASTERN METAL SUPPLY, INC
SCALE: 1/4” = 17 “ossnsert?? —r m o o INC. 1268 WEST ROADS DRIVE
£ - WEST PALM BEACH, FL. 33407
e L B e PHONE: (561)209-B263, FAX: (561)841-1716 17-095
Fhone : «%mﬁwmwﬁmwuq.mﬁwﬂm (305)871—1531 — — T — DRAWING No
Eu«rhmm_w_uh.hm_._.ﬁ 44167 = e e SHEET 4 OF 8




THIS SCHEDULE INDICATES REQUIRED ANCHOR SPACING
FOR A GIVEN DESIGN LOAD AND PANEL LENGTH.

MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

HOWEVER MAXIMUM PANEL LENGTH FOR A GIVEN E. D. = EDGE DISTANCE
e A T MR S SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES *
MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/27 ** MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" #+
tnxmﬁ? > & APPLICABLE TO | MAXIMUM znxmﬁc: — & APPLICABLE TO | MAYXMUM
delss ZAMAC NAILIN, _ L i SECTIONS # & | PANEL il ZAMAC NAILIN, . L ¥ SECTIONS # & | PANEL
hummazm TAPCONS e is CALK—IN SOLID-SET PANELMATES oF mp—GrIP | =F no:m\zm L bsqint .uwwmm@mm TAPCONS gl CALK—IN SOLID-SET PANELMATES cF S_,u il Pl zm:oz bt
RESEUNE 70 70 70 70 70 T0 70 70 0 o 10 70 OF THEM T (ft.) T0 0 T0 o T0 T0 T0 70 o 70 o | o OF THEM LT (f)
..mhﬂ...z.ﬁmu.h.h& CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY .@nﬁ?ﬁﬁuzﬂﬁ CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
12* - 127+ | - 127 - - - 12° - 12" - 1 & 3 (TOP) 12” - 12+ - 12" - - - 12" - 2" | = 1 & 3 (ToP)
» » » » - »”» ” . ” " ” ” " » » ” , "
12" 9" 12%+| 12" 12 7" 12 12" 12 12" 127 |9 172" | 1, 9% (BOTTOM) 12" | 6 127+ | 12 12 5 12 12 12 12 iz | 7 1, 9% (BoTTOM)
12” - 12"+ - 12" = 12" 12* 12* - i - 2, g*(roP) 12 | - 1274+ | - 122 | - 12” 12* 12* - 12" - 2, g*(roP)
127 | g 127+ 12" 12 7" - - 12" 12" 12" |9 172" | 2 (BoTTOM) 12* 6" 127+ | 12" 127 | 5 - - 12* 12" 12" 7 2 (BOTTOM)
+40.0, -45.0| 12" 9" 127++ 12" 127 7 - ﬁ - 127 12" 127 9 1727 3 (BOTTOM) >+40.0,-45.0| 12" & 12"+ | 12" 12* 5 - - 12" 12" i ad 3 (BOTTOM)
|
OR 12" - 12"++ - 127 - - - 12" - 127 - 4 (TOP) 8-0" o 127 - 727+ = 12" = = | = 12" = 1ar | = 4 (TOF) 8'-0”
1 |
LESS 12* 9" 12%+ | 12" 12" 7" - = jo 12" 12" |9 12| 2 (BoTTOM) or +500-550 | 12* | & 127+ 12" 12" 5" - - 12* 12" 127 | 77 4 (BOTTOM) o
LESS LESS
., p . _ 5 (TOP/BOTTOM) = | . " 5 (TOP/BOTTOM)
9 - - - 0 - - - 12 - - 7 (TOP) 77 | - - - 7 - - - |10 1/2 - - - 7 (TOP)
12" - - | - 20 | - = = 12" - = - 6 (TOP) 0° | - - - " | - - - 12" - - —~ 6 (T0P)
1" - - - 1| - - - 12" - - — 6 (BOTTOM) g | - - - 8" - - - 12" - - - 6 (BOTTOM)
10" - - - 1t | - - - 12* - - - 7 (BOTTOM) 8 | - - | - 8" - - - b1 - - - 7 (BOTTOM)
= = - | - 12" 6" 12" 12" 12" 12" - - |8 (ror/BoTTOM) - | - - W - 127 _ - 12" -~ - _ _ b cror/morrom)
12" = 12m+ | - 12* - - - 12" - 12" - 1 & 3 (TOP) 8" | - u‘.++w - 8" - - - 12" - & 12" | = 1 & 3 (TOP)
, » “ % % 5 5 P . % o |
12 | 6" 127+ | 12" 12" 5" 12" 12" 127 12" 12 |6 12" | 1. g (BOTTOM) 12" | 5" 1110 12 4 12 12 12 9 1/2 g [ »* 1, 9*(BOTTOM)
, _ m W
12" - 12+ - - 12" 12* 12" - 12" - 2, g*(ToP) P 1| - 12" - 12* 12" 12" - 9” - 2, g¥(ToP)
W m , . i
12" 6" 12+ | 127 12" | 5" - - 12" 12" 12" |6 1/2"| 2 (BOTTOM) 12" | 5" 11+ 10" 12" 4" - - 12" |9 1/2 9" 5" 2 (BOTTOM)
| |
1% 6" 124+ | 127 128 5" - - 12" 12" 12" |6 12" 3 (BOTIOM) 12" | 5" 1| 30* 12% 4" - - 12" |9 172" g9” 5" 3 (BOTTOM)
+40.0, -45.01 12~ = 12" - 12" - - - 12" - 12" - 4 (TOP) >8"-0" >+400, -45.0| 12" | - 11%+ = 12" = - B 12* = 9" - 4 (TOP) >8'-0"
OR 12" 6" 12" 12” 12” 5" - | = 12" 12" 12 |6 1/2"| 4 (BOTTOM) i 10 12" | 5" 117+ | 10" 12* 4" - | - 127 9 1s2"| e | 5" 4 (BOTTOM) 19
5 (Top/goTToM)| 98" , “ P 5 (T0B/BoTTOM)| 98"
LESS 7" - - - 7" - - - 10" - - - ( 7 «\HDE ) +50.0, —-55.0 5" - - | - 5™ - - | — 7 1/2 - - - ( 7 “EE )
10" = - — 10" - - - 12" - = - 6 (TOP) 8" = - - 7 —~ - | = oz - =l 6 (T0P)
| | | |
8” - = = g | - = - 12| - = - 6 (BOTTOM) 6" = - | - 6™ = = | = 8 1/2" | - = | = 6 (BOTTOM)
| | |
8" - = - 8" | - = = 17" e = = 7 (BOTTOM) 6" = - | - 6" = E - 8" e _ S 7 (BOTTOM)
| 1 |
- | - - - 2 | = 12" 12" 12" | 8" - | - |8 (Tor/BOTIOM) - - L 12" = 127 | 12" 12® 6" = - |8 (TOR/BOTIOM)
¢v ﬂ ,. : o
.....4./%4. g R\\..\i&!
N o S
S OOENSE B Y
+  ONLY TAPCON ANCHORS OR ALL POINT SOLID—SET ALLOWED FOR N . " .
FACTOR MOUNTING SECTION 8. 3 67 ¢ .m
ACTUAL E. D. : :
ZAKAC . KALIN ++ ANCHORS SPACING ONLY APPLICABLE TO ZAMAC NAILIN ANCHORS Z x5 (S x t %
TAPCON \_uv\zhmohﬂ CALK—IN SOLID—-SET CF TAP-GRIP - \o % . ”
- . K
aELMATES, *  SEE SHEET 7 & 8 OF 8 FOR ANCHORS TYPE & SPACING TP STATEOF mpw. §
37 = 86 75 78 1.00 FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS. Y Q\MoyNowa?%\ ..'.
2 12" B s e _ 50 ¥ MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2" EDGE DISTANCE. = %&.\ . dw@/h.. FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
FOR E. D. LESS THAN 3 1/2" REDUCE ANCHOR SPACING BY “,, DZ.).FIN ?
p - - - - - NOETDLTING. SPACINGE SECIT O SEAEdil c BY THE Foit owNe \\\-\,\\\\s\\uum.&mﬁw TILTECO, INC. 24 GAGE GALVANIZED m@ﬂaﬁ STEEL STORM PANEL LC.
: FACTORS. (Min. E. D. FOR CALK—IN ANCHORS & ELCO (2.25" DEEP) DRAWN BY:
112" 35 _ _ _ _ PANELMATE IS 2 1/2", AND 3 1/2" FOR SOLID-SET ANCHORS). 07,/25/17
- FOR THIS OPERATION TO BE MADE REDUCED SPACINGS RESULTING \ |—I—|| / EASTERN METAL mcmu_u_u<. INC o
FROM APPLYING ABOVE FACTORS :
SHALL NOT RESULT ON SPACINGS LESS THAN 3" FOR ALL ANCHORS _ _I m o o INC. zmmwmm A wmmmw.mn%nnw%w@m 07
(EXCEPT +4.5" FOR RED HD. DYNABOLT ANCHORS). JILLIT TESTING & ENGINEERING COMPANY ORIy el g Sh o A 17—095
Phene : ﬂuau»mﬂmmn\ummwm_wwmm (305)871—-1531 e = e o= DRAWING No
WALTER A. TILLIT Jr. P.E. 1 OLD 15-043 107/25/17] 3
FLORIDA Lic. # 44167 P 7 SHEET 5 OF 8




MAXIMUM A.S.D. DESIGN PRESSURE RATING (p.s.f.) AND CORRESPONDING MAXIMUM ANCHOR

SPACING SCHEDULE FOR INSTALLATIONS INTO CONCRETE AND CONCRETE BLOCK STRUCTURES * & P &= FREE PINERIEe
MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" **
AS.D. ~ APPLICABLE TO | MAXMUM
DESIGN TAPCONS ZAMAC NAILIN, CALK—IN SOLID-SET PANELMATES CF TAP—GRIP SECTIONS # & | PANEL
PRESSURE RED HD. DYNABOLT , ANY COMBINATIOM LENGTH
RATING(p.s.t.)| TO 0 o | o | T 0 0 0 70 10 0 OF THEM T (#)
CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
8" _ 77 - g” , = - - 12" - 6" - 1 & 3 (TOP) .:.--ﬂ“\\’\\\m\\\\\\
| | : L,
12" 12" 117+ 107 127 | 47 12" 12” 127 |9 127 g | 5" 1, 9" (BoTTOM) ..,..4: A ’
" _ ” ) ‘
12" - hasd I 127 | - j5 i 2 | - 9" - 2, 9*(T0P) K &
’ L
[ ” ) s
12" 5" JEE|  1g” 12" 4" = — 127 |9 172 9" s” 2 (eora) m i
T ’ [
THIS SCHEDULE INDICATES REQUIRED ANCHOR SFPACING = » » » | » » ” _ _ n | » » n S * .
FOR A GIVEN DESIGN LOAD AND PANEL LENGTH. peakg-aea)] 12 5 117 10 127 | 4 12" |9 1/2 g 5 % rarmen) v %
HOWEVER MAXIMUM PANEL LENGTH FOR A GIVEN - . ﬁ _ 8-0 20"
DESIGN LOAD MUST BE VERIFIED AS PER SCHEDULE 0 12 = 117+t = 12" = = | = iz | = g™ N 4 (TOP) oR PN &
ON SHEET 4 OF 8. i - T On ...\nNO.m_ov. S
+70.0,-800 | 12" 5" 1174+ 10" 12" 4 . S 12" |9 1/27| 9" 5" 4 (BoTTOM) | LESS = Ama.....:..........n% W
- - ] 5 (T0P/BOTIOM) = 9§} A\t
5 - - - 5 - - - 8 | - = | - 7 (ToP) \ﬁ!‘,\\\ozbrﬂmu-n.u
f [ , Pog2908007
8" = - | - 8" | - = - o127 - - | - 6 (TOP)
Fokd = = | = o - = - g”" _ = = W - 6 (BOTTOM)
6" = - - g | = = - 8 1/2"| - = - 7 (BOTTOM)
= = ~ - 127 | - 127 | 12" 12" 6" - - 8 (TOP/BOTTOM)
MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" ** wercssie 7o | wsmun MAXIMUM MAXIMUM ANCHORS SPACING FOR E. D. = 3 1/2" *+ DRI f—
L.M.D. }ma
ZAMAC NAILIN/ _ - s SECTIONS % & | PANEL R ZAMAC NAILIN/ SECTIONS % & | PANEL
DESIGN TAPCONS CALK—IN SOLID-SET PANELMATES CF TAP-GRIP TAPCONS CALK—IN SOLID—-SET PANELMATES CF TAP—GRIP
PRESSLIRE RED HD. DYNABOLT , _ ANY COMBINATION| LENGTH uﬂmmmm@am RED _HD. DYNAGOLT : ANY COMBINATIOM LENGTH
RATING(p.5.f.) T0 T0 10 70 o | T T0 T0 0 TO T0 10 OF THEM () RATING £ 0 70 o | T o | TO0 T0 _ T0 70 10 o | 70 OF THEM LT ()
CONCRETE | MASONRY | CONCRETE | MASONRY OQ.{ﬁm.nl_...m:ﬁ MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY N_U:m.. v CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY | CONCRETE | MASONRY
| | |
6" 2 574+ = 6" W = - - g 1/27 - & | = 1 & 3 (ToP) 5" - 4"+t = 5" = = _ = 8” - 3" - 1 & 3 (TOP)
1" 12" gn++ 8" bk i 7 3" 12” 12" 12” 8" 71/2" | 4" 1, 9% (BoTTOM) 10" 3" 8" ++ 7" 10" 3" 12” 12” 12” 7" |6 12" |3 1,27 | 1. 9F(BOTTOM)
| |
11" - g™t - e | - 127 | 12° 12" | - 7 172" = 2, 9%(10P) 10" - g "+t | - 10" - 12* i 12" - 6 1/2" - 2z, g*(ror)
| | " | | # &
f1* 4" gm++ | 8" 1 | 3 - | - 12" g |7 127 4 2 (BOTTOM) 10" 3" g+t | 77 Wy | & = - 12% 7 |6 12" |3 127 | 2 (BOTTOM)
_ m | "
>+50.0,-55.0| 11" 4" gm++ 8" 11" 3" - - 12" g |71/2"| 4 3 (BOTTOM) >+50.0-55.0| 10" 3 8" ++ 7" 10” _ 3" = - 12" |7 |8 1/2" |3 12" 3 (BOTTOM)
| T >8-0" _ I >8'-4"
o e 9" ++ = 11" = i = 127 = 7 12" _ - 4 (ToP) 0 0 10" - 8" ++ - 10" - - - 2% | = 6 1/2" | - 4 (ToP) o
+70.0-800 | 117 | 4~ gm++ | g h 3" - - 127 | & |7 12 _ 4" 4 (Bortom) | g'—4~ +70.0,-80.0 | 10" 3" g ++ 7" 10" 3" - - 127 | 7 e 12 |3 127 4 (BOTTOM) | 9°-8"
. . % | 5 (T0P/BOTIOM) N N m = 5 (TOP/BOTTOM)
4 - = = 2 = - g2 - = _ = 7 (1oP) 4 = = = 4 = - | - |52 = — = 7 (T0P)
[ | | | _ »
5" - = - 6" | - - | - 8 1/2" | - - | - 6 (TOP) 6" - - - 6" - - | - 7 1/2 - - - 6 (TOP)
5" - - = 5" W = - | - 7 | - 2= _ zs 6 (BOTTOM) 5" = - - 5" - - " - 61/2" - - - 6 (BOTTOM)
| “ | _
55 = - = 5" , s S 7 | - - | - 7 (BOTTOM) e = i = 4" - = | = 6" = = = 7 (BOTTOM)
| _ | |
- - - - 6 | - 127 | 127 12° 6" - | - |8 (Tor/BOTTOM) - 7 - - - 6" - 12” 12" 12" - - - |8 (ToR/BOTTOM)
+  ONLY TAPCON ANCHORS OR ALL POINT SOLID—SET ALLOWED FOR MOUNTING SECTION §.
FACTOR
ACTUAL E. D. ++ ANCHORS SPACING ONLY ZAMA / A p ; .
TAVAC AN CHORE. SPACING ONLYVALID 1D ZM00E RALN, ANGHORS: FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)
TAPCON \ﬂmz, s | SOLID=SET | CF TAP=GRIP | %  SEF SHEET 7 & 8 OF 8 FOR ANCHORS TYPE & SPACING FOR INSTALLATIONS INTO WOOD e ———— 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL Py
- FRAME BUILDINGS, (2.25” DEEP) DRAWN BY:
J _ -5 7 7 .00 **  MAXIMUM ANCHOR SPACINGS ARE VALID FOR 3 1/2” EDGE DISTANCE.
. 07/25/17
2 1/2” _ 71 50 _ 80 FOR E. D. LESS THAN 3 1/2" REDUCE ANCHOR SPACING BY MULTIPLYING SPACINGS SHOWN EASTERN METAL SUPPLY, INC DATE:
ON SCHEDULE BY THE FOLLOWING FACTORS. (MIN. E. D. FOR CALK—IN ANCHORS & ELCO — _l m CO . TEER WEST DS R
2* 50 o . o PANELMATE IS 2 1/2%, AND 3 1/2" FOR SOLID—SET ANCHORS). WEST PALM BEACH, FL. 33407
FOR THIS OPERATION TO BE MADE REDUCED SPACINGS RESULTING FROM APPLYING ABOVE e e Bl PHONE: (561)209-8263, FAX: (561)841-1716 17-095
112" 35 _ _ _ _ FACTORS SHALL NOT RESULT ON SPACINGS LESS THAN 3" FOR ALL ANCHORS (EXCEPT +4.5~ Phane : (3058711530 . Fex : (305)871-1531 ——— —— T — — DRAWING No
FOR RED HD. DYNABOLT ANCHORS). £ -poresiy o 50 S
WALTER A. TILLIT Jr. P.E. ! 25/ SHEET 6 OF 8
FLORIDA Lic. # 44167 2 4




f i 1/4" LAG SCREWS @ 6" . — ” - A 1" % 27 x 1257 (Min.) Alum. ;
. nﬂn. W/t 12" MIN, 2\ \w\m u%\ﬂm ﬂme.mﬁw.q & 7 [TTUBE w/ 1/4" LAG SCREWS h o 7 1/4 LAG SCREWS @ 67
THREADED PENETRATION q ; THREADED PENETRATION @ 6" 0. C. W/ 1 1/27 Min. 1 |- [O.C. W/T 1/2" MIN.
- HEAnES ] / . TO EXISTING WOOD HEADER. : 70 EXISTING WOOD
a % HEADER. : e
8 % 4 S AR b/ s L
| \ '] 3] ;X
RL == ; NEF N3 1 &= * S
[T e ! % i i b B s P
! - L | | < =~ !
.| | : i | _ | e N B
i | N (=]
_ /] | OI@ [ m , , 3 | 7
: Cont. % | Cont. : | :|® Cont 4, :
| B
_ il]Ar ” ) \ _ r O : : m . _ " N\ Cont.
| oy . = \W/
WOOD HEADER _ WOOD HEADER | 3 e ® 7 WOOD HEADER | —Q S
REQUIRED " REQUIRED _ o P~ REQUIRED : W
: g _ 2 17 MINIMUM S 17 MINIMUM W s
i | o A orrowmwmen || Q@ [REARIIO 19— r -~ SEPARATION 70— 7 fu
A 7 minmum - _ & SEPARATION TO S GLASS GLASS 2
SEPARATION TO P GLASS = 2 7
GLASS _ < _ﬂ w 7 m
= , = g
| | w
_ o — A—1 W —A— A /_&_. S V- A, f rmu
f | n ) = n A . =z
\ W\ — A A g —TV— — x 3 A= Y
= | [ |
ALTERNATIVE 1 1, \.".OIQ g e  E BamOF:
= 3/4” BOLTS W/ & #14 x 3/47 S, 5. f L g
, M 7/8" ¢ x 3/32" " S. M S @ 687 0. C | M g | vm.
A, WING NUT © 9 !
g X mmmmm mm% @ N_n | _”. i _ 2
17 Min. ||A ) % . B 1/4" 9-20 x 3 1 [
SEPARATION T . 3 \ m g e sors wy 3 ! :
EXISTING GLAS 1/4" 9-20 x . _ 3 |2 7/8" 8 x 3/32" _ _
374" BOLTS W/ _ Min| [+ |5 L | wive ot @ ! _
7/8" ¢ x 3/32" 1 | | N BE o : _
| V7 nr | X | H - |aEmse e . .
| |every sTuD @ e 4 B4 _ | - [F ¢ i <\ f N, 1/47 e-20 x
| T T I=} | | \
% 12" 0. C gl = \\ (@ Cont. N\ 3/47 BOLTS
S i LI S U L O N i Al -\ W/ 7/8" ¢ x
Z \ o .@ tont g _ \ 3/32" WING
7 _ | \ \| 1/4% (4G SCREWS © 6" | &Kl ) , WooD STUD 34 I\ NUT @
| | m | - Toc w/r 1/2* M. _ TS —® con o A | St
{ 2" x 4" PLATE] Hﬂ“ﬂ%ﬂu %Mﬁﬂmhlﬁgz_ ® g g . — REQUIRED . // @ 12" 0. C
; /IAU Cont. |” requirep | b= - / 4 he s .\ 1/4"8 LAG SCREWS @ 6"
\ 2k . p _ _ 3 / = l.rmm 1" x 4" x .125" (Min.) T 0.C. W/ 1/2" MiN.
\ |\ 1/4% Lac screws @ 6 | Woop_STuD imn oL TS Al TURE teanE z THREADED PENETRATION ©
Lom oy a7 prare |71 GC W1 1727 MIN. | ’ @ 24" 0. C. HE g A MIDWIDTH OF PLATE.
.| THREADED PENETRATION @ _ REQUIRED HER! 5 v
= _ ‘| miowiDTH OF PLATE. 1 X 5 A 5 | mnh\m:wa ﬁmrmmmwﬁ %ﬁ@wé@
BE %\ 2 Min, NOMINAL) AND W/ 27
I ) - \_ MIN. THREADED PENETRATION
INTO EXISTING STUD.
ALTERNATIVE 4 ALTERNATIVE 5 T8y,
\ _ .....Mm.\ﬂ A. Tl M\Mu =
L WALL MOUNTING INSTALLATIONS ....:%V. m \.\h'.r
N 17 Min. . | . Il o-.- a 2% -o-- -
pEaphol | SECTIONS A SCALE : 1/4" = 1" N ;
_ 1/4* 9-20 x 3/4" m s ZO
BOLTS W/ ; N : ‘
_ w\m@. 4 M\um. NOTE FOR COMBINATION OF SECTIONS: m * m
"l wine wuT 3 '
WALL MOUNTING SECTIONS CAN BE COMBINED e )
WECES WALL MOUNTING SECTIONS CAN. BE Col INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS 1%,
=
)
2, ,
(6) cont 20020000099
NOTES: FLORIDA BUILDING CODE (Non Migh Velocity Hurricane Zone)
L 2\ G et e screws o & 1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING B TR 24 GAGE GALVANIZED BERTHA STEEL STORM PANEL Le.
.M.Mmo.ﬁﬁmﬂﬂm N he w1 12" M. UP TO +60.0, —65.0 psf AND PANEL’S LENGTHS UP TO 7'-8" . (2.25" DEEP) DRAWN BY:
.| THREADED PENETRATION © :
| 2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN 07/25/17
i1 MIDWIDTH OF PLATE. PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. —_—l _ m n o EASTERN METAL SU _u_u_-<. INC DATE:
m :... INC. 4268 WEST ROADS DRIVE
" T TILLIT TESTING & ENGINEERING COMPANY WEST CALM BPAGH, fL.. 53407 17—095
Lhﬂlmazh Nu\<m -w 6355 Wrt.. an:p\.u%u@‘m\.w“-.q%. fﬁnmziﬁhnm%ybumwﬂm. ___M.wuw.uumm PHONE: (561)209-8263, FAX: (561)841—-1716
one < el - REV, No DESCRPTION DATE | REV. No DESCRIPTION DATE DRAWING No
Exi.m%mx.qmmmﬂwn P.E. ! XD 15045 TN SHEET 7 OF 8
FLORIDA Lic. # 44167 7 7 7




1/4" $-20 ELCO
male/ female

oc W/ 1 7/8"
Min. PENETRATION

T

: N

| WOOD HEADER =

| REQUIRED 2
I @
I n
I : W
_” | n v =z
5 | Ly
] ] g
ﬂ | g
|17 MINIMUM _ T
- ,m.mnh_mhﬁoz TOF | W
i GLASS _ g
T AL ~

L ¥

M =
— A, g
_ &
& | x
G

! —(1) 2

R E0

/ -|— @ MIDWIDTH
OF PLATE

| — 1/4" ¢-20 ELCO
\ male/ female

0.C. W/ 1 7/8"
Min. PENETRATION

PLATE
REQUIRED

ALTERNATIVE 7

\1 PANELMATE © 12"

WwooD b PANELMATE @ ﬂMn

1/4" 8 LAG SCREWS @
4" 0.C. W/ 1 1/2" Min.

1/4” ¢ LAG SCREWS @

THREADED PENETRATION _.,

47 0.c. W/ 1 1/2" Min.

1/4” 6 LAG SCREWS @
4" 0.C. W/ 1 1/2" Min.

WALL MOUNTING INSTALLATION

SECTION A

. CONT. TO EXISTING WOOD BEAM. THREADED PENETRATION h THREADED PENETRATION h
! (OPEN POSITION *) |/ TO EXISTING WOOD BEAM.____| TO EXISTING WOOD BEAM. |
\ \
n 4" 8" (Min.) EXISTING
u\uh ¢ LAG mm.&mwﬂm @ EOMU m.mm.ta.%macﬁmb. /. ———1 47 x 8" (Min.) EXISTING ——1 4" x 8" (Min.) EXISTING
6" 0.C. W/ 1 1/2" Min. STRUCTURAL ADEQUACY \ WOOD BEAM REQUIRED. WOOD BEAM REQUIRED.
THREADED PENETRATION OF EXISTING WOOD ——£Q EQ— STRUCTURAL ADEQUACY —£Q EQ— STRUCTURAL ADEQUACY
-TO EXISTING WOOD BEAM TO BE CERTIFIED OF EXISTING WOOD OF EXISTING WOOD
- | HEADER. BY REGISTERED ENGINEER BEAM TO BE CERTIFIED BEAM TO BE CERTIFIED
7 OR ARCHITECT PRIOR BY REGISTERED ENGINEER BY REGISTERED ENGINEER
CONT. TO SHUTTER INSTALLATION. OR ARCHITECT PRIOR OR ARCHITECT PRIOR
7 70 SHUTTER INSTALLATION. TO SHUTTER INSTALLATION.
, 78 yadll —EQH1-£Q —EQHT-EQ—
, f 7] ﬁ ,
| g m — . I
| S |* NOIE: swaP caP (D To | | | | |
= | £ |REMAIN CLOSED AT NON | |
I , ! R |HURRICANE CONDITIONS. Q | | u|® | |®
| WOOD HEADER | o , _ _ \ Cont. I N Cont
“ REQUIRED | I Cont. | ! | , [ A
I k.,. I 0 _ | \WI S =~ | =
I, \ WOOD MEMBER ! = =
17 MINIMUM T v T 1 || ! ) - ) ) | b
i h— _ IIAV |5 mu
[~ SEPARATION TO+ : S 11/47 8-20 x —1 ! g quuv;ivo%zﬂw: “ ” B W — &
] GLASS | g 1 3/4” BOLTS W, ,, | PENETRATION B | I.T | &
I ! ~ 1 7/8" x 3/32 i g . { | 2 | i
i i 3 I WING NUT @ | | = { | 5 i | S
m | ¥ “ 1270 ¢, ] | = i S h | <
| | & [ | W | | W ] W
| [ - ! [ | & ! | i ! I /ﬁ\
| [ % I , | o n : & i _
m | E . HIPITE D e \ . e )
% R - ar Suei - = s o - :
nT\ [ _ |17 MINIMUM ! 4 " MINIMUM i Y Yo mnmum | =
(o [~ SEPARATION TO : @ s SEPARATION TO ! {— SEPARATION TO | o
H — | I GLass | m ¥ I GLASS ” @ iy i GLASS ) g
& /1 | 1 4 b3 I < I I g
T h I ! _ P I W & [ )
I . | o | x
! ! 1 | i /8" x 3/32" m | g “ | g
/] . 1/4" 8 LAG SCREWS : | | = WG NUT @ , W = : _
wooD \\ @6 0C W/ 1 1/2" ,_ ! 12" 0. C. I DO i P
PLATE \\“ , Min. THREADED —A4— \_\ 7 —A— ” ._.w am_um m A ! m\ . mom 7
REQUIRED “,_ PENETRATION © (— m . 2 x 6" " Aoeck m | {DEck
% MIDWIDTH OF PLATE. : - WooD DECK ' Areouren | ALTERNATE LEG (8) I | pEQUIRED |
% ) ONT. Conk. ¥ REQUIRED i e f LOCATION Cont. | i !
A (OPEN POSITION *) ~ B # Bat: ———/ ' s £
i ! ||4L T f T
A } _ t // ""_m “
| | \@ T 7 ¥ “ L > T 7 T
I 1" Min. | ﬁ | \ , = \ /
— SEPARATION TO , f \ | _ 7 | 8 _
| EXISTING GLASS L+ » LG SCREWS © — , _ W\ _ _
CONT. n /4" @ LA EQ--EQ- \ | 4= | . #
: @ E 4" 0.C W/ 1 1/2° Min. A A6 SOREWS! @ \— /4" 9-20 x R - 1" ,wmn mmwmmxx\
- - THREADED PENETRATION 3/4" BOLTS W, " s .
f AR 4 0C W) 1 172" Min. ey L 1/4" 8 LAG SCREWS © 7/8" x 3/32
& — THREADED PENETRATION WING NUT @ 4" 0.C. W/ 1 172" Min.  WING NUT ©
& mmﬂ% 12" 0. C THREADED PENETRATION 12" o0 ¢
nw E
¢ .
i 2
_ ALTERNATIVE 1 ALTERNATIVE 2 ALTERNATIVE 3
woop 4 ....
PLATE
REQUIRED ONT. CEILING & FLOOR MOUNTING INSTALLATIONS ...@4,
(OPEN POSITION *) f
w r l
A SECTIONS B scue: 14 =1 N £
) '
SECTION @ STUD TYP. TOP/BOTTOM m *
s H
-
ALTERNATIVE 8 :-0
-3 : N
1% S&S
= A \Now_OV <&
> Co <N
INSTALLATION DETAILS ON EXISTING WOOD BUILDINGS AL Pt Ay
=, Qz _>wl m m.u
SCALE : 1/4" = 1 “, :8f?
d - 77T L

NOTES:

FLORIDA BUILDING CODE (Non High Velocity Hurricane Zone)

©2017 TILTECO, INC.

24 GAGE GALVANIZED BERTHA STEEL STORM PANEL

L.C.
1. INSTALLATIONS ARE ONLY VALID FOR MAX. A.S.D. DESIGN PRESSURE RATING (2.25" DFFP) DRAWN BY:
NUIE. FOR EOMAVNATION. OF SECHONS: UP TO +60.0, —65.0 psf AND PANEL'S LENGTHS UP TO 7'-8"
07/25/17
FLOOR/ WALL/ CEILING MOUNTING SECTIONS CAN BE 2. FOR WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN _ — EASTERN METAL SUPPLY, SATE:
COMBINED IN ANY WAY TO SUIT ANY INSTALLATION. PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL. ILIEC O inc. 4268 WEST ROADS DRIVE
WEST PALM BEACH, FL. 33407
m.ﬂ..@hmhhﬂx\ w.mw......mnmnu uﬂ”ﬁﬁ“%rﬂ.ﬂahmgﬁﬁﬁﬂhgoﬂ PHONE: (561)209-8263, FAX: (561)841—1716 ﬂwlomm
Phone : am&mwmm_lmmwomﬁwﬂw (305)871—1531 — —— — DRAWING No
WALTER A. TILLIT Jr. P.E. ! OLD 15-043 07/25/1 3
FLORIDA Lic. § #4167 7 . SHEET & OF &




